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Solve the following equations for x°

al) cosx*=0.&643 b) tanx*=—0.5
d) Zcosx°®°=1.414 e2) 3sinx*=2.59
g) sinZx°*=0.5 h) cos3x°*=0.5
iy 2casx®= 3 z3] ~Irtanx =1

Solve the following sgquations where
ad Zocosx*+2=0 D) Scosxt+1=0

Solve the following eguations where
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c) sinx*=0.,707
g8 ) dtanx*=—-2.31
1) tanmnZx®=-—1
1) Zsinn®=-—/3
O ®<IZHO, —
c) 3sinx*=H6

OIx°L720, —

al 2sinNx®*+1=0 b)) 4dcosx*+5=5
sinx®
Verify that sin®x°+cos=2x""= and cosx” = tanx® fovri-—

ay x=30° (=B =45 c!) X=60° C

Prove that the following identities
al) 4cos=2A + 4sinA = 4 =D
c) 1 - 2sicn®d = ZoosTA — 1 d)
e) {(cosA + sirm= = 1 + 2ZsirfcosA )

g’ (cosAtsin®) (cosA-—sirmnd)=2Z2cosA—1 h)

Z2roosFhs =

use exact wvalues
i+ vou canl

are TRUE: -

Z -~ 2oin@A

Icos=A — 2 = 1 — 3sin=n

(CcosA—sind® + 2rosfsind = 1

cosAtarnd = sind

©,360

v

i) {cosA-sin®) (cosftsinmd=1-2Zsir=n iy (sinAd — cosA)® = 1 - ZesindcosA
1 - cos?x sinA cosA . (e
k> oS = tan<x 1) cosA + sinAa = COSAS NS
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